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Q1.Which of the following statements are true about Steam Engines?

a) At the beginning of the nineteenth century, there were not more than 321 steam engines all
over England.

b) Mathew Boulton manufactured the new model of steam engines.

c) James Watt improved the steam engine produced by Newcomen and patented the new
engine in 1781.

d) All of the above.

TEH FoTeT & aR H feAFaATol i &d 3 H HieT AT HUT T &7

a) Sewirgdl HET T YB3 H, R STels # 321 I 31Teeh 19 o7 161 U

b) LY SeesT o AT GoTel & T HISel T FAATOT faha|

C) SIFH dTE o wgehHeT GaRT [T AT SofeT 7 GUR AT 31X 1781 7 AT ofef &7 9
T

D 3uierd et

Answer: (d) All of the above/39RIed 3|
Q2. Assertion (A): Agriculture and industry move hand in hand.

Reason (R): Industrial development is a precondition for eradication of unemployment and
poverty from the country.

A.Both assertion and reason are true and A is correct explanation of R
B.Both assertion and reason are true but A is not the correct explanation of R

C.A is true R is False

D.Both A and R are False
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Ans. (ii) B.Both assertion and reason are true but A is not the correct explanation of R / IdTl 3R
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Q3.Considering the importance of agriculture in India, which of the following were given priority
for improving Indian agriculture?

a) Establishment of the Indian Council of Agricultural Research (ICAR)
b) Development in the field of meteorology and weather forecast
c) Establishing agricultural universities, veterinary services and animal breeding centres

d) All of the above
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Q4. Complete the box by choosing the correct option:
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(a)Right to Freedom/TadadT T &R

(b) Secular/ &rHfATIET
(c) Socialist/ FHTSIATET

(d) Communist/ Wﬂﬁ?—?



Ans.(b) Secular/ THATIET

Q5. Assertion: There is a decline in child sex ratio in India
Reason: Indian parents prefer to have sons.

A.Both assertion and reason are true and A is correct explanation of R
B.Both assertion and reason are true but A is not the correct explanation of R

C.A is true R is False

D.Both A and R are False
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Q6. Match the following items in column A with those in column B and choose the correct
answer from the options given below :

Column A Column B

(i) Silk Route (a) Ireland

(ii) Potato Famine (b) Silver

(iii) Mexico (c) China
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(D) (i) = (a) (ii) = (c)(iii) — (b)

Ans. (A) (i) = (c) (ii) = (a)(iii) - (b)

Q7. Read the given statements:

India has no official religion.

All the communities have freedom profess and practice any religion India.
Which one of the following constitution term is used for the above statements?
(a) Republic

(b) Secular

(c) Sovereign

(d) Socialist
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Ans.(b) Secular/ &THfaTTeT

Q8. Complete the box by choosing correct option.
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Cotton MillRichard Arkwright
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(a) Mathew Boulton/ ﬁ%'q\w
(b) James Hargreaves/ ST&g glalicq

(c) James Watt/ SI&g dTc



(d) Andrew Yule/ UER{I’\Q\FT

Answer-(b) James Hargreaves/ S1&8 g{3iicq

Q9. Assertion: The 17th century was an era of proto-industrialisation.
Reason: The first cotton mill was established in India in Bombay in 1854.

A.Both assertion and reason are true and A is correct explanation of R
B.Both assertion and reason are true but A is not the correct explanation of R

C.A is true R is False

D.Both A and R are False
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Q10. Read the given statements and choose the correct option with regard to Rabi
cropping season from the following:

|. Rabi crops are sown in winter.

[I. Sown from October to December and harvested from April to June.

[ll. Important crops are Maize, Cotton, Jute.

IV. Punjab. Haryana, Uttar Pradesh are important for the production of wheat.
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